66

#IFE / Product Number

AUPE

H~T%

H dimension

W=Ti%

W dimension

R1L#HE / Feet specification

D~Fi&

D dimension

ER/A

Feet (R or A)

EX P /H)
Screw (P or H)

EH.E R{4E#E / Original trapezoid head screw specification

BT =Hh)LT—24 / Technical Datall
#EftRILY / Recommended torque
M25 : 0.15N*m ~ 0.2N*m

M3, M4 : 0.3N*m ~ 0.6N-m

i

Color Type

#ERNZA / Components

No. & %5 / Part name #= / Pcs # & / Material & - RMEAWIE / Color+Finish
: a—F—Javy 4 TILEH A4Fr Xk ADC12 DIVR— TS - B (REELE)
Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
2 LR 9 TILEHH AT A6063S-T5 2L —- B (NEVERNER)
Frame Extruded aluminium A6063S-T5 Silver-Painted (Unfinished inside)
5 IL—L 4 TILZIRH# A6063S-T5 DILN—- B (N RAE)
Panel support frame Extruded aluminium A6063S-T5 Silver+Painted (Unfinished inside)
. ISR ) FILZHR A1100P IVN— B (EImEFNE)
Panel Aluminium A1100P Silver+Painted (Conductive inside)
5 HR— : 7 LR A1100P VILA—- 2K (RESENE)
Top cover Aluminium A1100P Silver-Painted (Conductive inside)
6 THhi\— 1 7 ILEHR A1100P LN — i (EEmEFENIE)
Bottom cover Aluminium A1100P Silver-Painted (Conductive inside)
JLE TPE (T3 RF) T3v9
7 Ruber feet 4 TPE (Elastomer) Black
TILZR FILT & I)aVT L DIWIN—TIIA+ & TSYY
Aluminium feet Aluminium & Silicone Silver+= Anodized & Black
8 EMCY—ILRHR7wh 1 BB (UL94V-0) AT L—
EMC shielding gasket Conductive fiber UL94V-0 Metallic gray
9 B{FHE R (M3 x 8) 16 &% =T ILAYE
Screw (Flat head M3 - 8) Steel Nickel plated
10 BR{FTE R (AFM3 x 5) 16 % =oTILAVE
Screw (Trapezoid head M3 - 5) Steel Nickel plated
1 HAER (VN1 FEM4 x 8) 4 &% =@E/aA—+
Screw (Bind head M4 - 8) Steel Black trivalent chromate
" BFER GETRBALEF AM25 x 7) i % =i LAvFE
Screw (Captive pan head M2.5 - 7) Steel Nickel plated

@30

10

@30 12

@ (o

[

|

12

IE L2 / Rubber feet

FILZZE / Aluminium feet

[P] 75X / Phillips

7N / Hexagon—socket

{1k / Color Type

AEASLHMIH I EPREOBVFIE SRR INF BT 2(CIRBLET. / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.

BASHINFERTE

a4 /Title
INRILRBEMCY — LR —R

o]

i85 / Code | O—7F+—7J1Aw% / Corner block {8I#x / Frame INFRIL / Panel $H/8— / Top cover | T7//3— / Bottom cover
SS < JL1N— / Silver 2 JL1N— / Silver < )LsS— / Silver 2 )Ls3— / Silver < JLsN— / Silver TAKACHI ELECTRONICS ENCLOSURE CO., LTD. EMC SHIELDED ENCLOSURE with DETACHABLE PANELS =S
S B 75v% / Black 2 JLsN— / Silver < JLsSN— / Silver < JLiN— / Silver < JLsN— / Silver 7 5%/ Approved #%[X|/Checked #X/Created FIZ /Product number RE/Scale
AUPE66-43-43 1 1-C1 0] s
iR X ol R—/Page
{YER B /Date 2022/10/18 1 717




B-B (1:6.5)

383

D view

383

66+ 0.3

E view

—
[

A view

430+ 0.8

B = A B
LA N | d
T

F view

A-A(1:65)

C-C(1:65)

C view

416

430+ 0.8

423

B view

- 1

BASHINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

a4 /Title
INRILRBEMCY — LR —R

EMC SHIELDED ENCLOSURE with DETACHABLE PANELS

o]

752/ Approved

iR

#%[X/Checked

=

#1[X]/Created

A1l

RIE /Product number

AUPE66-43-430101-010

RE/Scale
1:6.5

{ERL B /Date 2022/10/19

R—/Page

2 /71




C {I#k / C Frame

380 225
™~ |

@ 5 | 25

s

M@ / Front side

D {81#% / D Frame

T 1

ZRE / Front side

33

3.3

= les &l
B S
5 2-M3AHSR M3 5
2-M3 Countersunk
MR EmEFEHE / Same on the other side.
% E / Back side
les &l
2 &

Z & / Back side

4/ Title

BRASUINTFERTE B4R

TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame

o]

7 R/ Approved #%[X|/Checked #X/Created FIZ /Product number RE/Scale
H66 — D430 13
iR x o RS Pase
{YER B /Date 2022/09/27 3 /7




16

22.5

356

380

%)

N~

2-M3FH39%

2-M3 Countersunk

6.5

3-M2.5

14

147K / Total 4 pieces

55

10.5
©
Ej ™
3.3

MESHANFEHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
JL—LA

Panel support frame

o]

752/ Approved

iR

#%[X/Checked

=

#1[X]/Created

F

FIZ /Product number RE/Scale
W430 1:2
R—/Page
e A/Date  2022/08/08 4 /7




A /NI / A Panel

3795
o ) o]
™
o
Lo Y Y
B3N~Ti% / Max dim. 372+ 05
M / Front side
B /\2*)L / B Panel
K ) .
Lo Y o

M / Front side

ATk / Max dim. 32.6+0.3

4-M2.5F A2 LR —T
4—Metal sleeve for M2.5

REES—MMA JI
Surface protective film side

REES—MMA [II
Surface protective film side

3.5 2

i

i

45.5

356

5/ / Back side

5/ / Back side

mmd/Title
BRARUINTFERITE RES O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
752/ Approved #%[X|/Checked #1[X]/Created RIE /Product number RE/Scale
H66 — W430 1:3.5
iR X ol R—/Page
1R H/Date 2022/10/14 5 /717




4194

400

4-R14.7
/s
<
= 3 :
; <
\<>

FRE / Front side

BR~ti% / Max dim. 383+ 0.5

8-@4.5

E3h~Fi% / Max dim. 383+ 0.5

REES— A

Surface protective film side

ZZ M / Back side

mnda/Title
TAKACHI| MR HhFEHT X HI8— @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
7 5%/ Approved #%[X|/Checked #X/Created FIZ /Product number RE/Scale
W430 - D430 _
EP*E X E‘T’*ﬂ' ~N—/Page
{ERK B /Date 2022/07/20 6 / 7




4-R14.7
s g =
T ¥ 5

=M / Front side

4194
400

3714

o
(34

BE#~ti% / Max dim. 383+ 0.5

8-@4.5

B~k / Max dim. 383+ 0.5

4-M4

& —HA

Surface protective film side

o
(34

ZZ M / Back side

BASHINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

m#/Title
THhiN—

Bottom cover

o]

7 5%/ Approved

iR

#%[X/Checked

=

#1[X]/Created

F

RIE /Product number

W430 - D430

RE/Scale
1:4

{ERL B /Date 2022/07/20

R—/Page

7 /71




	AUPE66-43-43_ｼｰﾄ1
	AUPE66-43-43_ｼｰﾄ2
	AUS_H66_D430
	AUPF_W430
	AUPP_H66-W430
	AUT(E)_W430-D430
	AUB(E)_W430-D430

